CLAD

GARAGE SOLUTIONS

5 PIECE THREADED INSERT M8x1
Reference : SA 3785

l||;|_|- \

i

=
w’%rr

=

[tem name 5 PIECE THREADED INSERT M8x1

EAN code 3700461444425

Warranty period No warranty (consumable)

Tariff code Tariff Normal (TN)

Warranty ProcedureNO

Article(s) maitre(s) OM 3787 | HEATER BALL REPAIR KIT M8x100 M10x100 M10x125 M12x125

Mo =

CLAS EQUIPEMENTS Tel : +33 (0) 4 79 72 62 22 Monday to Friday - From 8 to 12h30
83, chemin de la CROUZA Fax : and from 14h to 17h30 (16h30 on

73800 CHIGNIN Friday)
France




